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Name: __________________________________



1
Which equation has roots of [image: image1.png]3+i



 and [image: image2.png]


?

	1)
	[image: image3.png]




	2)
	[image: image4.png]2+ 6x— 1I





	3)
	[image: image5.png]—10x+





	4)
	[image: image6.png]x4+ 10x—







2
Which quadratic equation has the roots [image: image7.png]5+i



 and [image: image8.png]


?

	1)
	[image: image9.png]—10x+24=0





	2)
	[image: image10.png]x4+ 10x+24=0





	3)
	[image: image11.png]—10x+26=0





	4)
	[image: image12.png]x +10x+26=0







3
Which quadratic equation has the roots [image: image13.png](1+38)



 and [image: image14.png]


?

	1)
	[image: image15.png]x4+ 2% 1





	2)
	[image: image16.png]




	3)
	[image: image17.png]x4+ 2x-8

0





	4)
	[image: image18.png]0







4
Which equation has [image: image19.png]


 as a solution?

	1)
	[image: image20.png]x4 2x-2

0





	2)
	[image: image21.png]x4 242





	3)
	[image: image22.png]0





	4)
	[image: image23.png]— x4 2

0







5
Which equation has the complex number [image: image24.png]


 as a root?

	1)
	[image: image25.png]




	2)
	[image: image26.png]




	3)
	[image: image27.png]




	4)
	[image: image28.png]






6
If [image: image29.png]241



 and [image: image30.png]


 are the roots of the equation [image: image31.png]Adx+c



, what is the value of c?

	1)
	[image: image32.png]




	2)
	5

	3)
	[image: image33.png]




	4)
	4



7
Write a quadratic equation whose roots are [image: image34.png]S4inf2



 and [image: image35.png]


.

8
If the solution set of [image: image36.png]v px+




 is [image: image37.png]{1+i1-1}



, find the value of p.

9
The roots of a quadratic equation are [image: image38.png]


 and [image: image39.png]


.  Find the sum of the roots [image: image40.png]


 and [image: image41.png]


.  Find the product of the roots [image: image42.png]


 and [image: image43.png]


.  Write a quadratic equation that has roots [image: image44.png]


 and [image: image45.png]


.

10
If  [image: image46.png]2+ 3i



 is one root of a quadratic equation with real coefficients, what is the sum of the roots of the equation?


1
ANS:
1

The product of the roots equals [image: image47.png](3+)(3-1)=9-




.  OR

[image: image48.png](x=G+DE- G- =0
(= (G+))x-G-)=0

(x-3-)x=3+1)= 0
(r= D=5 +3)= 0

-3 -1

2= 6xe 0





REF:
082208aii

2
ANS:
3
REF:
089325siii

3
ANS:
2
REF:
088620siii

4
ANS:
4

If [image: image49.png]


 is one solution, the other is [image: image50.png]


.  [image: image51.png](x=(1=)x—(1+1

X - x—ix-x+ix+ (1

x-2xe




REF:
081601aii

5
ANS:
4

If [image: image52.png]


 is one root, the other is [image: image53.png]4 + 3



.  The sum of the roots is [image: image54.png]



REF:
080718b

6
ANS:
2

[image: image55.png]



REF:
060719b

7
ANS:


[image: image56.png]—10x+27=0




REF:
089442siii

8
ANS:


[image: image57.png]



REF:
018411siii

9
ANS:


6, 13, [image: image58.png]



REF:
080041siii

10
ANS:


[image: image59.png]2+3i+2-3i=4




REF:
010522b
